[##% ]
(1) D+1 @ V5 @ +03 (2) D-7 @5 ©3
(3) DVIE5 @5 © 4/14
D02 o @¥
(5) @ 4v2 @ 6+ 2V2 ® V5 @ 3vV3  ® -5
(6) DV5-5 @8+2V6 @ 3vV2+V6—-2V3-2 @®5+2v6 ©® -1

(1) D866 @ 0866 (2) 3, 4
(3) © 4 @1 ® 14 (4) n=145

(1) x=-2,-3  (2) x=-7,3 (3) x=0,-6 (4) x=4, —4

1S

7
2

B ng IO CEATOmE A2 L5 b b KX B0 + 2,

(5) x=+2V3 (6) x=1+ (7) x=8, 2 (8) x==2+22
BHNSUVMERII2n — 22 FE S, Lo TRORDELY L H,

2n+2)?=(2n)?+(2n-2)* Zh%itRET5L.
4n’+8n+4=4n*>+4n*>-8n+4 4n? —16n=0 4n(n—4) =0 n=0, 4
n>0 XVn=01F @, Ko T3 oDEEE, 2X4—2, 2X4, 2X4+2

X% 6, 8 10

(1) afif: =5 fof : 3 (2) b=6
6] M b T & LT OB Y T,

(14 — x)(18 — x) = 221 TNEMRNT,
252 —32x + x? =221 x>—=32x+31=0 x=1, 31
0<n<14 LY n=31IN i,

Kz :1m

[=]

F"lé—a': i .-

[=]



